&d

addazay

SSC CGL Mains Mega Quiz (Quant) Solution

S1. Ans.(c)
Sol. We can not determine the maximum value of given function.

S2. Ans.(b)
Sol.
sin(y-z)+sin(y+z)+2siny
sin{x-z)+sin{x+z)+2sinx
siny cosz-cosy sinz+siny cosz+cosy sinz+2siny

sinx cosz-cosx sinz+sinx cosg+cosx sinz+2sinx

2siny cosz+2sin sin
¥ ¥ s, ¥

2sinx cosz+2sinx sinx

Alternate Method
options are independent of z

soputz==0
hence equation becomes = E%ny
21nx
S3. Ans.(b)
Sol.
sin({x+y)-2sinx+sin (x-y) sinl0x-sin8x

[cos(x-y)+cos(x+y)l-Zcosx] coslOx+cos8x

2sinx cosy-2sinx  sinl0x-sin8x
x

Zcosx cosy-2cosxy cosl0x+cos8x
(sinA-sinB=cos(A+B)/2 .sin (A-B)/2 &cosA+cos B=Cos[A+B)/2.cos(A-B)/2)

2sinx cosy-2sinx 2cos9xxsinx

2cosX cOSY —2COSX 2Zcos9XMCOSN

sinx sinx

= |tan®x

COSX COEX

s4. Ans.(b) SSC CGL TIER-II

Sol.

By Hit and Trial P R I M E
b%x? — a’y? = a?b? ..(i)

Now, putting the value of x and y in Eq. (i), we get 85+ Total Tests

= b%*(asecB)® — a’(btan8)? = a’b? ; : ;

= b%a? sec? 0 — a’b? tan? B = a’b? v'15 T!er 1l Quapt Prewc_>us Years lPapers
—_— - A— v 14 Tier Il English Previous Years’ Papers

= a’b™(sec” @ —tan"8) = a’b v 20 Advance Maths for TIER-II

~ a’b? = a’b? v 20 SSC CGL Tier Il Quantitative Aptitude

[+ sec®* @ —tan® 0 = 1] v 20 SSC CGL Tier Il English Language

Hence, option (b) is the right answer. BILINGUAL
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S5. Ans.(b)

Sol.
+ & = +
2 sin(%) cus(%r)xz sin%xcnsmz—ﬂ

LK+F:I.CGS((H_Y:I).2 gin > ) sinm_}'}
z z z

2cCo5

=1
Method-2

[(sin x+sin y)(=sin x-sin y]]

[(cos x+cosy)(cosy-cos x]]
sin? x-sin%y

cos® y-cos?

x
(sin® x-sin®y)

[-(1-sin® x)+(1-sin? y]]

sin® x-sin® y
(sin? x-sin® y)

=1

S6. Ans.(b)
Sol.

3sin® ¢ + 4cos® o
or 3sin® ¢ + 3cos® ¢ + cos® @

=3 + cos® & (~ maximum value of cos® ¢ = 1)

=3+1=4
S7. Ans.(b)
Sol.

gin58  sin 368
cos 58 ' cos 368

sin58 sin38
4 cos 48 (CDS 58 cos 39)

sin 58 cos 368 + sin 36 cos 56

—
4 cos 46 (cos 30 sin 58 — sin 30 cos 58)
sin2 X 40

=
4cos48.cos20
2 5in 46 cos 48 2x 2sin208.cos 28

= =
4cos4B.s5in 26 4 5in 26

= cos 20 ssc PREMIUM
S8. Ans.(¢) 2019

Sol.
Given: Vertical pole = AB; Middle point of AB =C or

AC =% Angle ZAPC = and BP = n AB.
Let ZCPB=ut. 850 Total Tests
Therefore #FAPE=ao + [3. 200 + eBooks

Validity: 12 Months | Bilingual
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e

;.'._ ﬁ, =
p/;’iﬁ____ B
We know that in ACPE, tana=—== 2 =28 1
BF nAB InAB In
Similarly, in AAPB, tan (a+B) =2 =28 _1
BF nAB n
We also know that B=a+B-a or tan B = tan {(a + B) - a}
1 1
_ tan{e+P)—tana  FT3;  n
 1+tan(a+ f)tana 1+1xl_ 2n? 41
n2n
tanx —tany
{tan{x —¥y)= }
1+ tanxtany
S9. Ans.(d)
Sol.
3 p
Given,tanf =— = —
4 b
Then,
h=p*+bi=Vo+i16=v25=5
p 3
~sinf =—-—=—
h 5
9 b 4
cosB=—=—
h 5
Now,
25x sin® O cos 8 = tan® B
~25x(3) =)
*\s) 57 \a
9 4 9
=25 —.—-=—
25:5 T
X=—
64
S10. Ans.(a) @ ‘ Adda 247
Sol.

7R SSC C6L 2018
A BOOKS KIT

60 45"
——X—3>PE3-1—(

100 SSC CGL Tier-1 Mock Papers

20 + SSC CGL Tier-ll
Previous Years' Papers 2015-18

ENGLISH MEDIUM @ 699

T
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Let height of light house=v/3
Tan45= height/base

=)
Base=y/3

Tan 6{}—15

X

¥=1 ,therefore,

(v3- 1)distance »60x 4 (v/3 - 1)
1 - 240

HENCE,( height ) V3 — 24043

S11.Ans.(a)
Sol.
1 F: i
sin*(90-8) [cos?(90-6)]-1
S S
" cos*@ sin26-1
1 cos°@
= addazyi
cos?d cos?d ‘ ‘ publications
_ sinZ@ - tan’0 2g
BT SSC ADVANCE MATHS
, CRACKER COMBO 2019
Alternate (putting method)
Put 8 = 45 3 Printed Edition Books
= Smt% CDS;E_I CRACKER-GEOMETRY
1 MENSURATION
= 2% — oy ALGEBRA
;
= 4-2 =(2)

2
Option (1) Satisfying =1 x (y/2) =2

S12. Ans.(c)
Sol.

sin@ +sin“ 0 +sinfB =1

sin® + sin® B = cos® B

sin® (1 + sin® 8) = cos* A

sin” B (1 + sin® 8)° = cos* 8

(1-cos? 8)(1 + (1 - cos® El))z = cos* @

(1-cos® 8)(2-cos* 8)* = cos* @

(1-cos?8)(4 + cos*B-4cos”8) = cos* B

4+ cos*B-4cos®B-4cos’B-cos®B +4cos*B = cos? B

cos®B-4cos*B 4+ 8cos’B =4
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S13. Ans.(c)

Sol.

[tan (90—A4) + cot(90—-4)]°
2 Sec? (930-24)

Put A =30 or 45°

- [1+1]® ooy

2
S14. Ans.(a)
Sol.

Sin (90 — x)cos[n — (x — ¥)] + cos(90 — x) sin[rm — (v — x)]

Putx = y = 45
Sin 45 % -cos O + cos45 x 0

I
=5 Option (1)

=-Cosy
Alternate method

-cos % cos (x-y) -sin x(sin (x-v]}]
-[cos x cos (x-y) +sin x(sin (x-y)]

-cos [x-x+y] =-cos y
Option (1)

S15. Ans.(c)
Sol.
LetAB=hm

190° = gl

ZAPB =06°
From A AEP,

From equation (i) and (ii],
h_ b

a h

h® = ab

as(cos a cos b+ sin a sin b=cos (a-b))

addaay

publications

PUBLICATIONS PRIME

SSC-CGL |CPO|CHSL
Complete Package

8 Printed Edition Books
1 eBooks

ENGLISH EDITION @ 1999/-

5 | www.bankersadda.com

| www.sscadda.com

www.careerpower.in | www.adda247.com



=yabm
AQ=vab + b = \/b(a + 1)

S16. Ans.(d)

Sol.

LetA=B=C=D

So,

sinOcos0 4+ sin0cos0 + sin0cos0
=0

S17.Ans.(b)
Sol.

4sinA.cos® A-4cosAsin® A
—sin 44
4 sinAcos Alcos® A-sin® A)
-2s5in 2Acos ZA
4sinAcos AcosZA
-Zsin2Acos2A
= -1 since [sin 2A = 2sin A cos A]

S18. Ans.(b)
Sol.
Pythagorean triplets, we know that (8, 15, 17) is

g 15,
. 17 (EcosA+Esmﬂ)

Let there be a angle B for which sinB = %, cosB = ﬁ
= 17(sinBcosA + cosBsinA) + 15

= |17 sin(A + B)| + 15

We know that

sin(A+ By =1

sin(A + B)pin =- 1

~maxvalue=17 =1+ 15=32

Min value =17 x(- 1) + 15=-2
S19. Ans.(b)
Sol.

30 130 ENGLISH

, B ., 98
sin—-sin— + cos—cos—
2 2 2 2

O M 38 138
==[2 sin—sin— + 2 cos—-cos T]

As we know 2sinAsin B = cos(A- B) - cos(A + E]]
2cosAcosB = cos(A + B) + cos(A-B)

SSC PUBLICATION

=

[cos 48 - cos 58 + cos 88 + cos 58] PRIME

[cos 48 + cos B8]
SSC CGL |CPO | CHSL & Others

=

= % % 2cos68.cos 28 since (cos A +cos b=2cos(a+b)/2 .cos(a-b])/2)
= cos 60 .cos 206

7 Printed Books
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$20. Ans.(b)

Sol.
Given below fig is drawn according to question

h

& 66"
P 45073
sr G
BN S0 el
h=45013 x+/3
in 6 minutes, it achieved a height of 1350 m
g 450=3 _ 375
speed =——-=3. m/'s
S21. Ans.(b)
Sol.
Speedof Man,  [Time taken by Man,
Speed of Man, ~ +) Time taken by Man,
r
s _ |5 ey 3 _ [
Speed of Man, 3§ 5 10 25

Speed of Man, = g X B = % km/hr
= Egkm;’hr

S22. Ans. (b)
Sol.

Let slower speed = x

xX 45hr=(x+5) %X (45— 0.5) hr.

x = 40 km/hr.
$23. Ans.(b)
Sol.

Spj&iﬂf b;at in still WE-:;]: xkm/h (say) ssc EXAMS 2019
an at of stream =y 1

Then, SUPER PRIME

1 1xs00 _

xty= LI & Test Series | eBooks | Books
Xx+y=8andx—y=5

So, Speed of boat = % (8 +5) 850 + Total Tests

= 6.5 km/h 200 + eBooks

8 Printed Edition Books
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S24. Ans.(b)
Sol.

Speed = 72 km /hr
T =9 min
D=SxT

D=72 X —==km

60 &
To getin 8 min

Speed should be = ganee
5x8

= 81 kmm/hr

increased speed = (81 - 72) = 9 km/hr

S25. Ans.(a)

Sol.

Ist case

Ty Tr

x+1 x

On engins failure for train B
Old New

Sg —> 3 2

Ty — 2 3

\“--_-"/’
4 hour

B takes 8 hour

So, A talkes 9 hour

Speedof A= %= 80 km/hr

S26. Ans.(b)
Sol.
5, =60, 5,=108

ACCORDING TO QUESTION
D D

60 108
48D =2 = 60 = 108

D=270km
Alternate

Sr"u:SH
60 : 108 Ta : Ty
cig £ g5

M
¥l 4=2hour
1 =% hour

Distance = 9= 15 =60=270
Or
Distance =5 x 15 x 108 = 270

o‘@ addazy
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S27. Ans. (b)
Sol.

Let's 't' time taken to arise the water level by 7 cm.
Now radius of Pipe = — =7 cm

= water flow by pipe = volume of tank

7 7 5 T
MX—X——X5xX —Xt=50x44x —
100 100 18 100

t=7200 sec
7200

t=——— =
60 x 60

S28. Ans.(b)
Sol.
Suppose the distance b/w X & ¥ be K km.
2
-K
Then, it takes ? hours to cover

3 K km.
4

1
-K
1
& It takes —45 hrs to cover = K km

Average Speed
3 1
_ 5K K(BS)
T3 1. ~ 3 1
¥, 3K JKS+KB
B S
4BS5

= 3¢5 K/hr

S29. Ans.(c)
Sol.

Distance is 12 x 3 = 54 km

New time = 3 hr

Therefore, new speed = % = 18 km/hr

S30. Ans.(d)
Sol.

ATQ,

Length are same
(x—6)%Xx5=(x—7.5) %55
x=22.5km/hr

And length = (22.5 - 6) x5x5/18
= 22.92 metre
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